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Note: 1.All questions are compulsory.
2. Figures to the right indicate full marks.
3. Students will be allowed 15 Minutes extra time per hour.
PART A

Q. 1 Multiple Choice Questions (25M)
1. Balance is established where even product curves and even cost lines touch each other
a) Manufacturer's b) Consumer's ¢) Seller's d) Consumer's

2 The utility created by resizing an object is called ------

a) Time b) Knowledge c) Form d) Service

3. The functional fruit between exchange and exchange is called ------ fruit

a) Demand  b) Supply ¢) Production d) Investment

4. Sprout Douglas Production Fruit has marginal origin ------

a) Negative b) Positive ¢) Qualitative .d) Same

5. If an industry organization gets profit in the form of savings, it is called -----

a) Technical frugality b) Internal frugality c¢) Increased frugality d) Manager frugality
I This is the underlying cost

a) Expenditure on labour b) Expenditure on electricity c) Capital d) Raw materials
7. Net increase in total expenditure is -------- Yes

a) Average cost b) Marginal cost ¢) Total cost d) Rising cost

8. The cost incurred in the form of salary is ------
a) Expressed expenses b) Unexplained expenses
¢) Fixed expenses d) Unstable expenses

9. The cost incurred in the form of depreciation is ------

a) Express cost b) Opportunity cost ¢) Fixed cost d) Unexpressed cost
[0. Total raising costs include ------- N
a) Depreciation b) Salary c) Administration expenses d) Fixed expenses
11. Average achievement is ------ Yes

a) AC b) MC C) AR d) MR

12. The demand curve in full competition is parallel to the ------- axis

a) X b)Y gt dE

13. A simple market is one where customers and ------- come in contact with each other
a) Consumer | b) Government ¢) Vendors  d) Manufacturers
14. If there is only one seller ------ it is called Bazar Peth

a) Monopoly b) Duplication ¢) Minority  d) Full competition
15, —----- In full competition the demand curve is parallel to the ------- axis

a)Y b) X OY-X d) 0

16, -=-mmmmm These are the characteristics of pure competition



a) Free Arrivals b) Free Exits c) Free Arrivals d) Single Seller
17. In full competition the price of the item is ------- everywhere

a) Different  b) Single c¢) Unstable  d) Controlled

18. If demand increases while supply of goods is stable then equilibrium price becomes -------
a) Stable b) Unstable  c) Increases d) Decreases

19. If the manufacturing organization is making extraordinary profit or loss ~-----

a) Equality  b) Instability c) Inequality d) Demand

20. The satisfaction of the producer depends on the ------- price received by the producer
a) Demand b) Supply ¢) Investment d) Utility
21. The total income received by the industry organization is ------- yes

a) Boundary receipts b) Average receipts c¢) Border expenses  d) In-laws expenses

22. Deducting ------ from gross investment yields net investment

a) Depreciation b) Savings  ¢) Capital d) Interest

23. Taxes, Debts, Expenses, etc. The policy regarding type factors is called ------
a) Monetary policy  b) Fiscal policy
¢) financial policy  d) Full employment

24, - These are the main objectives of monetary policy
b) Price stability

a) Economic growth d) Economic

- growth and full employment

¢) Full employment

25. This is the reason for the recession

a) Increase in price  b) Increase in demand ¢) Decrease in price  d) Increase in supply

Answer Sheet for Multiple Choice Questions

Q.No. | Anms. [ Q.No. | Ams. | Q.No. | Ams. | Q.No. | Ams. | Q.No. | Ans.
I 6 11 16 21
2 7 12 17 22
3 8 13 18 23
4 9 14 19 24
5 10 15 20 25
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Note: 1.All questions are compulsory.

2. Figures to the right indicate full marks.

3. Students will be allowed 15 Minutes extra time per hour.

PART B

Q.2 - Answer the Following - (Any One out of Three) (10M)
A) Explain its usefulness and write its types
B) State the law of production fruit of Cobb Douglas
C) Write the law of changing quantity

Q.3 - Answer the Following - (Any One out of Three) (10M)

A) Write different types of expenses

B) Explain the concept of short term expenses

C) Write the type of receipt stating the meaning of receipt (P.T.O)



Q.4 - Answer the Following - (Any One out of Three) a1omM)
A) Types of monopoly markets

B) Write the characteristics of Perfect competitive market

C) Write the characteristics of monopolistic competitive market

Q.5 - Answer the Following - (Any One out of Three) (10 M)
A) Write Ricardo's volume theory

B) Write a profit risk theory

C) Write the theory of interest of Cannes

Q.6 - Answer the Following - (Any One out of Three) (10M)

A) Difference between short term and long term cost curve

B) Difference between cost and receipt

C) The difference between a monopoly and a monopolistic competitive market
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